Algebra 2 







Name: ________________________
Unit 6, Day 9 







Date: ______________ Period: ____
Properties of Logarithms
Review the rules of exponents:
	Rule
	Example
	Keyword
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Name parts of a log:


There are 3 analogous properties of logarithms.
1a)  Find the following exponents using your calculator (round to the nearest hundredth):
	log 5 = __________

log 6 = __________

log 30 = ___________
	log 7 = _________
log 2 = _________

log 14 = __________

	log 12 = __________

log 3 = __________

log 36 = ___________
	When you ___________ the arguments, you ___________ the exponents.


1b) Fill in the property you discovered:
	The ___________ Property of Logarithms

log x + log y = log (________)
Conversely: log (x ∙ y) = log (x) ____ log (y)


	1c)  Practice:  Use the property to rewrite each expression as a single logarithm.

	i)  
[image: image7.wmf]5

log

9

log

2

2

+



	ii)  
[image: image8.wmf]10

log

2

1

log

6

6

+


	iii)  
[image: image9.wmf](

)

(

)

c

b

a

a

8

log

3

log

+



	1d)  Practice:  Express in expanded form.
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2a)  Find the following exponents using your calculator (round to the nearest hundredth):

	log 80 = __________

log 8 = __________

log 10 = ___________
	log 56 = _________

log 8 = _________

log 7 = __________

	log 36 = __________

log 4 = __________

log 9 = ___________
	When you ___________ the arguments, you ___________ the exponents.


2b) Fill in the property you discovered:
	The ___________ Property of Logarithms

log x – log y = log (      )

Conversely: log 
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 = log (x) ____ log (y)


	2c)  Practice:  Use the property to rewrite each expression as a single logarithm.
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	2d)  Practice:  Express in expanded form.
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3a)  Find the following (round to the nearest hundredth):

	log (52) = log ( ________)
             = log (____) + log (____)
             = __________________
	log (82) = log ( ________)

             = log (____) + log (____)

             = __________________

	Write log 63 as the sum of three logs, then simplify:
log (63) = log ( ________)

             = log (____) + log (____) + log (____)

             = __________________
	Let’s use a calculator:
Find: log (34) = ____________

Find: 4 log 3 = _____________



3b) Fill in the property you discovered:
	The _________ Property of Logarithms



log (ab) = (___)log a

Conversely: b log a = log (____)


	3c)  Practice:  Use the property to rewrite each expression.
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	3d)  Practice:  Rewrite without the coefficients, then simplify.
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Mixed Practice
	1.  Rewrite each expression as a single logarithm.  Simplify, if possible.

	a) log 5 + log 7


	b) log 15 – log 5
    
	c)  log 9 – log 3
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	2.  Express in expanded form.
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	3.  Solve each equation.  Check your solutions.
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	4.  Evaluate each expression.
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	5.  Solve for x.  Check your solutions.
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	7.  Donna invests $1200 into an account earning 7.2% annual interest compounded quarterly.  How much will be in the account after 14 years?


	8.  Mickey bought a computer for $1500.  It depreciates at a rate of 30% per year.  How much is the computer worth in 5 years?



	9.  Find each inverse.
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